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General Instructions :

Read the following instructions very carefully and strictly follow them :

o

ro

(i) This question paper contains 34 questions. All questions are compulsory.

(it) Marks are indicated against each question.

(ii1) Answers should be brief and to the point.

(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.
(vii) Attempt all parts of a question together.

Naman and Vineet were childhood friends and both were working in
‘Sunshine Crockery.” Naman was working as the Chief Executive Officer
while Vineet was the Production Manager. They would generally discuss
company related issues over lunch-time or while travelling together.

The company had recently received an order for supply of 5,000
dinner sets from Shaurya Hotel. It was an unexpected order and would
increase the revenue of the company. This order was communicated by
Naman to Vineet over intercom. Vineet executed the order within the
given time period. For this, he was appreciated by Naman.

The type of communication used by Naman to communicate the order to
Vineet was :

(A) Formal Communication (B) Informal Communication

(C) Online Communication (D) Visual Communication

‘Vanguard Inc.’, a company manufacturing footwear for men, women and
children has been earning consistent profits for the last many years. It has
a democratic style of working. Workers are encouraged to develop and carry
out plans for improvement in the organisation. Varun who is working in
the production department gave a suggestion which resulted in 10%
reduction in the cost of production of shoes. He was rewarded for his
suggestion. Identify the principle of management followed by ‘Vanguard
Inc.” in the above case :

(A) Esprit De Corps

(B) Subordination of Individual Interest to General Interest
(C) Initiative

(D) Equity
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Statement-I : Motivation can be either positive or negative.
Statement-II : Motivation is a complex process as the individuals are
heterogeneous in their expectations, perceptions and reactions.
Choose the correct option from the following :
(A) Statement-I is true and Statement-II is false.
(B) Statement-II is true and Statement-I is false.
(C) Both the Statements are true.
(D) Both the Statements are false.

‘Child-O’ is a garment manufacturing company which makes clothes with
unique and stylish designs for children. Naisha was working as the
Human Resource Manager with ‘Child-O’. Inspite of good pay and many
other benefits offered, the company is facing problem of high turnover of
its employees. Naisha tried to find out the reason but could not. She
appointed a person with the permission of the Chief Executive Officer to
find out the reason. It was found that other organisations were giving
more autonomy and authority to their employees which made them feel
that their jobs were important.

This was attracting the employees of ‘Child-O’ to other organisations. The
incentive which attracted the employees of ‘Child-O’ to other
organisations is :

(A) Employee Recognition programmes

(B) Employee Participation

(C) Career Advancement Opportunity

(D) Employee Empowerment

Read the following statements :

Assertion (A) and Reason (R). Choose the correct alternative from those

given below :

Assertion (A) : Availability of leasing facilities may reduce the funds
required to be invested in fixed assets thereby reducing the fixed
capital requirements.

Reason (R) : When an asset is taken on lease, the firm pays lease rentals
to use it and avoids to invest huge sums required to purchase it.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.
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Which of the following is NOT a factor“affecting ‘financing decision’ ?

(A)
(©)

Fixed operating costs (B) Cash flow position

Control considerations (D) Diversification

Which of the following is the function of Top level management ?

(A)
(B)

(©)

D)

They ensure that their department has the necessary personnel.

They interact with the actual work force and pass on instructions of
the middle management to the workers.

They co-operate with other departments for smooth functioning of
the organisation.

They analyse the business environment and its implications for the
survival of the firm.

Choose the incorrect statement about ‘Money market’ :

(A)

(B)

(©)

D)

The main instruments traded in this market are Treasury bills,
Trade bills, Commercial paper and Certificates of deposit.

In this market, transactions entail huge sums of money as the
Instruments are quite expensive.

Participation in this market is by and large undertaken by
institutional participants such as the Reserve Bank of India, banks,
financial institutions and finance companies.

It deals in medium and long term securities.

‘Kanand Ltd.” is an automobile manufacturing company started in 2014
under ‘Make in India’ initiative of the Government of India. Expecting
higher growth in future, it developed higher capacity in the current year
taking advantage of the subsidies provided by the government. This would
enable ‘Kanand Ltd.” to meet anticipated higher demand quickly, For this,
‘Kanand Ltd.” invested large amounts in fixed assets leading to higher
requirements of fixed capital. Identify the factor affecting fixed capital
requirements which ‘Kanand Ltd.” kept in mind to meet higher
anticipated demand quicker.

(A)
(©)

Scale of operations (B) Nature of business

Diversification (D) Growth prospects
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10. Identify from the following — what is shown in the picture of refrigerator
given below ?

DIGITAL
INVERTER

1 OWARRANTY

Refrigerator
(A) Brand name (B) Brand mark
(C) Trademark (D) Label

—
—

‘Since business environment consists of numerous interrelated and
dynamic conditions or forces which arise from different sources, it
becomes difficult to comprehend at once what exactly constitutes a given
environment’. Thus it is relatively easier to understand the environment
in parts but difficult to grasp in its totality. Identify the feature of
business environment highlighted above :

(A) Uncertainty (B) Complexity

(C) Relativity (D) Dynamic nature

p—t
N

For holding securities in an electronic form, the investor has to open a
demat account with an organisation called

(A) Depository

(B) Securities and Exchange Board of India

(C) Stock Exchange

(D) Mutual Fund
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The activities involved in managing the enterprise are common to all
organisations whether economic, political or social. Identify the feature of
management :

(A) Management is multidimensional.
(B) Management is all pervasive.

(C) Management is a continuous process.
(D) Management is a dynamic function.

Match the terms given in Column-I with their meaning in Column-II.

Column-I Column-II

a. Trademark (1) A name, term, sign, symbol, design or some
combination of them used to identify the
products and differentiate them from the
competitors.

b. Brand name | (11) A brand or a part of the brand that is given
legal protection.

c. Brand (111) | That part of the brand which can be
recognised but which 1s not utterable.

d. | Brand mark | (@Gv) |That part of the brand which can be

spoken.

—
o

Choose the correct option from the following :
a b ¢ d

@A @ @ @@y av)

B) @) @) @ @)

€ @ av) @ @

D) @ @ av) @

Statement-I : The basic function of a Stock Exchange is the creation of a
continuous market where securities are bought and sold.

Statement-II : The Stock Exchange provides both liquidity and easy
marketability to already existing securities in the market.

Choose the correct option from the following :

(A) Statement-I is true and Statement-II is false.
(B) Statement-II is true and Statement-I is false.
(C) Both the Statements are true.

(D) Both the Statements are false.
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16. Navya went to a supermarket for grocery shopping. She bought one kg of

bajra flour from the supermarket. On reaching home when she opened the
packet she found worms inside it. She was disappointed and told her son
about the same. Her son asked her to check the label. When she checked
the label of the packet, she found that bajra flour was stale and beyond
the expiry date. She approached the sales-person at the supermarket who
replaced the bajra flour immediately. When she thanked the sales-person,
she was told that it was the policy of the supermarket to satisfy the
customers. He further told that satisfied customers not only lead to repeat
sales but they also provide good feedback to prospective customers which
helps in increasing the customer base of business. Identify the point of
importance of consumer protection from the point of view of the
supermarket which is helping them to increase the customer base :

(A) Long term interest of the business (B) Moral justification

(C) Social responsibility (D) Government intervention

Many reputed business organisations keep a database of unsolicited
applicants in their offices. Such job seekers can be a valuable source of
manpower. A list of such job seekers can be prepared and can be screened
to fill the vacancies as they arise. The source of recruitment discussed
above is :

(A) Direct recruitment (B) Casual callers
(C) Labour contractors (D) Campus recruitment

means doing the task correctly and with minimum cost.
(A) Efficiency (B) Effectiveness
(C) Management (D) Coordination

As per Plastic Waste Management Rule 2022, single use plastic items
were prohibited in Delhi from 1st July, 2022. The dimension of business
environment referred to here is

(A) Economic environment (B) Legal environment
(C) Technological environment (D) Political environment

Which of the following is not an element of social environment ?
(A) Composition of family

(B) Consumption habits

(C) Rates of saving and investment

(D) Educational system and literacy rates
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State any three protective functions of ‘Securities and Exchange Board of
India’.

‘Caro’, a car manufacturing company was manufacturing high cost, good
quality luxury cars. For the last few years, the company was not earning
good profits as the demand for the cars was very low.

Chief Executive Officer of the company, Piyush had a meeting with
the Production and Sales Managers to discuss how to increase the revenue
of the company. They found that nowadays instead of purchasing luxury
cars people prefer to have such cars on rental basis. So they decided to
start ‘Car rental service’. The Production Manager also suggested that as
these cars were sophisticated and each spare part was very costly it would
be better to provide these cars for rental service along with trained drivers
so that there would be less wear and tear. Piyush agreed and a training
unit was started. Two of the available cars were used for training the
drivers. People were very happy as they were getting these cars on rental
basis with trained drivers. The idea was a big hit and the company was
able to surpass its profit targets of the last 20 years.

(a) Identify and explain the method of training given by ‘Caro’ to its
drivers.

(b) Also, state any two advantages the drivers will get after this
training.

State any three points of importance of staffing function of management.

‘Cortico Fabrics’ was started by Ashish in 2001 to sell bed sheets, towels,
comforters, pillows, cushions, bath mats etc. It is now a famous name and
its branches are across India. To manage the work all over India, it has
eight teams-two each for North, South, East and West India. Ashish
spends a considerable amount of time to develop an orderly pattern of
group efforts among different teams and to secure unity of action in
pursuit of a common purpose.

To ensure suitable allocation of tasks to the various members of the teams
and to see that the tasks are performed with harmony among the
members, he tries to balance the different teams at different locations.

(a) Identify and explain the concept of management discussed in the
above para.

(b) Also, explain any one point of importance of the concept identified in
(a) above.
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25. A Business Process Outsourcing centre, ‘Chromosome’ which deals in
conversion of voice reports dictated by physicians and other healthcare
providers into text format has 40 employees. They ensure that their
employees are well versed in at least one foreign language and one Indian
language. The employees are also given the required training to ensure
that the reports are processed correctly as they are the backbone of the
patients’ medical history. On frequent complaints about some of its
employees, it was observed that they were facing problems in decoding the
message as they were not very proficient with the language in which the
voice message was received. As a result, they would make mistakes
causing different meaning to the message. Not only this, sometimes there
were technical words used in voice reports, the actual meaning of which
was also not understood by the employees. Due to this, ‘Chromosome’ was
slowly losing its business to competitors.

The above case highlights two communication barriers. Identify and
explain these barriers. 4

DO
»

Inspired by the success of Chandrayaan-3, the Chief Scientist at ‘Space
Rover’ a private research group, decided to send some innovative ideas
regarding the mission to the Chief Scientist of Chandrayaan-3.

The Chief Scientist at ‘Space Rover’ formed four groups for the same. As it
was an intellectual activity of thinking rather than doing, these four
groups started” interacting with each other and friendships developed. On
the basis of their interaction and friendship, some members from each
group formed ‘Entertainment Through Reading’ group which showed
conformity in terms of their interest. ‘Entertainment Through Reading’
group had no written rules, was unstable in form and scope and had no
fixed lines of communication. The members of this group enhanced the
morale of each other, enjoyed drinking coffee together, read books, served
different issues of their work areas and provided support to each other.
Ultimately this group developed some innovative ideas which were sent
by ‘Space Rover’ to the Chief Scientist of Chandrayaan-3. Though this
group was formed for recreation but it contributed towards fulfillment of
organisational objectives.

(a) Identify and explain the type of organization which emerged as

‘Entertainment Through Reading’.
(b) State any three advantages of the type of organisation identified in
(a) above. 4
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(a) State any four characteristics of planning.
OR
(b) Explain the following types of plans :

(i) Policy
(i) Budget

Differentiate between ‘Selling Concept’ and ‘Production Concept’ of
marketing management philosophies on the basis of :

(a) Meaning
(b) Main focus
(c) Means

(d) Ends

Kewalram started a sweets shop ‘Karamati Sweets’ in 1950. The sweets
were famous all over India for their good quality and people would come
from far and wide to purchase sweets from him. As he grew old, he could
no longer run the shop. So, he sold the shop to one of his neighbours
‘Bholaram’. After a few months, to further increase the revenue,
‘Bholaram’ started engaging in unfair trade practices like using
adulterated khoya and paneer. He thought that no one would know about
it as ‘Karamati Sweets’ had a good image in the eyes of the people.

Slowly, people started falling sick after consuming sweets purchased
from ‘Karamati Sweets’ but they did not know where to go and to whom to
complain. Raghav, a resident of the village had recently completed his
studies. He was also a member of a non-governmental organisation. ‘Meri
Voice’. He felt that the villagers should be made aware about the rights
and reliefs available to them. He started creating awareness about
consumer rights among the villagers to protect their interest through a
series of talks and presentations in the village.

(a) Identify and explain the consumer right discussed in the above para.

(b) Also, identify and explain the consumer right violated by ‘Bholaram’
in the above case.
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(a) Explain the following functions of marketing :

w
S

(1) Gathering and Analysing Market Information

(11) Marketing Planning 4
OR
(b) State the four major components of physical distribution. 4

w
—

(a) Explain the following points of significance of principles of
management :

(i) Providing managers with useful insights into reality.
(i1) Meeting changing environment requirements.
(i11) Scientific decisions 6
OR
(b) Explain the following principles of management :
(1) Unity of direction
(i1) Remuneration to employees

(i11) Equity 6

o)
B

(a) Explain the following factors affecting the working capital
requirements of a business :

(1) Credit allowed
(11) Production cycle
(i11) Awvailability of raw material 6

OR

(b) Explain the following factors affecting the dividend decision of a
company :

(1) Growth opportunities
(i1) Cash flow position

(i11) Shareholders’ preference 6
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The G20 Summit was organised in India. The government left no stone
unturned to make G20 summit a success.

At the higher level, the work to be performed was identified and grouped
to enable people to work most effectively together for accomplishing
objectives. This involved building infrastructure, beautification of the city,
hospitality, security arrangements etc. Duties were assigned to different
job positions which led to establishment of clear relationships. This helped
in creating a hierarchical structure and in co-ordination amongst all
working for the summit.

(a) Identify and explain the function of management discussed in the
above para.

(b) Explain any four points of importance of the function identified in
(a) above.

‘Memo Builders’ was constructing a five star hotel for a leading hotel
chain. The hotel had to be given possession by next year but the
construction of the hotel was running six months behind schedule. The
Chief Executive Officer of ‘Memo Builders’ was concerned as Memo
Builders was known for its quality and timely completion of projects. He
asked Nitin, the senior of the Project Head for a thorough investigation.
Nitin investigated and reported to the Chief Executive Officer that inspite
of huge absenteeism of workers, additional workers were not called. Nitin
also reported to the Chief Executive Officer that three of the ten machines
being used by the workers were defective. Nitin ordered for repair of the
machines and asked the Project Head to appoint additional workers with
attractive wages to ensure that the deadline is met.

(a) Identify the function of management. Quoting the lines from the
above para, explain the steps of the process of the function of
management discussed.

(b) Also explain any two points of importance of the function of
management identified in (a) above.

66/5/3/RR5SP/22



©0O®O®

[
Series RR5SP/5 SET~3
................................... TS 66/5/3
Roll No. R R
gr@—mg R 37 ford | ;

Candldates must write the Q.P. Codeé
on the title page of the answer-book.

e / NOTE :

®

(1)

(iid)

(iv)

V)

FUAT A H A o 59 TH-93 H qfgd I56 23 2 |

Please check that this question paper contains 23 printed pages.

AT A HL A b ST THA-THH 34 TH 2 |

Please check that this question paper contains 34 questions.

T -UF H e 81 i AR TG T Je-93 FiE 1 qlEmnedl IT-Jieahl & JE@-T8 T
fod |

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

AT T BT I TAGHT Y& A 8 T8, IT-YI&IhT § I 1 shHieh e o |

Please write down the serial number of the question in the answer-
book before attempting it.

39 WU I Ugd o fote 15 fire o1 g fem o 2 | sed-ua w1 T gate ® 10.15
Sl FoRIT SAT@ | 10.15 &1 | 10.30 Sf e qlreneff Shaet Je-9 ol Ui 3T 36 3@ &
R o ITR-YEqeh] T 15 I A8l fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.

TR TR EIHE
BUSINESS STUDIES L

fAenRa aaa : 3 Tv2 FTH 3 - 80
Time allowed : 3 hours Maximum Marks : 80

66/5/3'RR5SP/22 [PREX® P.T.0.



LIhH L)

[
HINDI VERSION
= e

QQCOOEEIOELROCEEIOCEOEEEEEOEEEIOEEOORCEEIOEEOOCEEIE

—

ro

Frfafaa fcut =i sga aaar & ufew ik 3 T & wrer Hifve :

(i) FEIFT-YT7H34 F57 & | T 357 7RG & |

(ii) ¥ J991 & b 37 G BT 8 |

(iii) IR & 7T f9GaR & =eT |

(iv) 3 37Hl & F99 & I 50 T 75 Vgl 7 fo7@ 7 T8¢ |
(V) 4 37 I & I TTHT 150 Vee] 8§ for@ S =Ry /|
(Vi) 6 37 B FFI & IT TTHT 200 31551 5 7@ 5717 T30 |
(vii) JH J97 3 T YT & I/ TH T [o7@ 77 T /

T qYT forfia s & SR O 3R T GRS shiskd’ B SRR O | T G RIBR)
ARIHHI o TY | hRAG o1 9 fofiq Scares v o1 | 9 rftenierd: e et

eal T gIUet o WIS o T8 T $ohad ATAT hid THT I=! hid o |

BT & H O B I g 5000 fe T 1 gfd w1 omey fren | 9
FUTRAT STICH o TUT THY HE 6 P H gfg B ot | 39 Iew <t g A A
getehm g fofla i €Y | fofta 3 € 18 Tmar srafy o 5 e < fsmifea e feam | saes
fore = g Sk TwET H TS |

TN T 98 FehR fSieht JRT 04 gRT forfia =l 311ee aeifya i o foTe femam
T T, d7 AT :
(A)  IT=TRes TN (B) TR TEINoT
(C) ATTATS TEITT D) TE-FEE

TS 3o’ &I, Afget1al ua =i o ot Beferr s aTeft ush st 8 37 et o
Ut T AR o1 1R T 2 | 5h! Rl Had Y el Arhdies § | TS § gIR
fore st = AT faefid o w@ 3 wrifrd s o fote Icartad feman Srar & |
ET, ST IcuTe fawmT H SRR 7, o T gera e foma Sai it Icaned @ 3 10%
HHT TS | I 35 FI1d < 7T Jr&ahd fohan 1T |

T fefa o 9TTE $ R UTeH ToRT TTT W&y o @I i T8=TT ;
(A) TEIN hHI qTeHT
(B) @mfesh fedi o forq safera ferti <61 wwdor
(C) UEA-&qHan
(D) @wal

66/5/3/RR5SP/22



©CEOEEEICEEOEEEIOELOEEEEEOECEOEIOEOLCOOEECECOCECIOCEU

o

=

ot

[OR O
W—I:aﬁqﬁwnwmmw@ﬂ%ﬁm%l
e — 11 : 1SR ueh Sifee ufskn 2 wRiifer aqsi st 3Tuetiati, 3Hoh aaie aa
gfafsranst 4 = et 2
fratafiga @ 9 98 fosped o1 ==m il
A) FHEI[FAIZANMFIII3EAZ | (B) FU I TI 2 AATHUT [ 31T 2 |

(C) TN HATEIE | (D) T e AT 2 |

“Tgeg -3 Teh 9% ATl wro) 3 S s= o 3Tfgd 19 W gsiiel fEsie a1t shue s
2 | TR Arges-3’ % WY Uk HHd HHIHE JaUeh o &9 § hrld off | 3 o9ad T
3T 9gd TR o ATHI ohl &1 o a1g Y HEOH] HHTTET sl T8 el ST THRAT
T L &I g | TR 5 SERT ShRUT ST 1 SATE fohall ©ifehd 918 38! €& a1 i |
&7 HRIBRI SAHRT hl STTATT | TR 5 FHHT BT ¢@- o 1T Teh SAfad shi Fgfaa
S | =g ar TR foh Arges -3 Sl STURTT 3T TS AU HUETT i 3Tk T
T HATUBR TgH R @ A Fored el 918 3199 id o foh 31 1 ggcayul o | 359
ATgee -3’ HHAR 3 TS1 shl 3 RN 21 @ I |

IE WcHTEd, TSTHeh ST ‘=Mgeg -3 & hHTR] 3T &1 i TR AHNI B B Y, 3 :
(A) HUETHET bl TgaH o Traefl shrishy

(B) =it st wrflerd

(C) Shergf faehra & garaex

c

(D) HHTTRET hT TR FThT0T

Frfafiaa el w1 afeu -

TR (A) 3R HRT (R) B | = feu e foreheai #F & &t o1 == $ife

ANHYT (A) : Uzerl giaanan 6 Iuctear wrlt giemtar § e & few 6
JTETIHAT bl HH HT Hehel! & T 30 TehR TARA YSht AT STTervrehal 4 B AT 2 |

HROT (R) : S Ueh Grfe] qg T ol STt B 1 Shell B 38eh 39917 o fore fershat =61 ugerd
Tortra ft 2 e 38 R v o T STrerves sl U Few s g s Il B |

(A) IIRTRAT (A) T HROT (R) SHT TcF & a1 HROT (R) 310hem (A) i T&l samen
=

(B) 3BT (A) 9T SO (R) SHI T 7, T HRUT (R) MU (A) i Tl =
TR |

(C) ANH (A) I B, T HRUT (R) A 7 |

(D) ARH (A) 3 B, W] HRT (R) T 3 |

66/5/3/RR5SP/22 P.T.0.



QRCLOEOEEIOEEOEEEIOECEOCEEEEOOEEEOEEOOCEEIOEEOOCEOCICOEO0

o

~

o

©

e

[
frefefiaa d 9 oF o1 ges ‘fatma-Taoi’ s grfera =i sean 2
(A) TR FETEH A (B) Uehe yaTe feurfa
(C) T afawaer (D) fafasfero

frafafea o 8 oF @1 w1 SE-Tlg TS H1 R 2

(A)  ghfeaa td & fo 39 favm o stavess i & |

(B) 9 ITEdfeeh SIS § HATE Hid & U Hed Talld Taurehi o faumm fén i o=
qeh IgTd 2 |

(C) o TS o GETE HIHhIS o foIT =T TIATTI o6 HT A& HLd & |

(D) o %Y o S o TTU HaHT™ o JHTaN0T Td I8k THTE hl fI9eisul <hid 2 |

1 SR o G4 H TTAd YA 1 =3 ShITT :

(A) 57 g= yorEl § 98 SR SR T 8 98 7 Sl foet, =R foer, anforfsaes o=
T STHT JHT9T 9 |

(B) =fr Yor@ §gd HE BId & 3A: 39 S9N H oH-¢Al o U St A § o7 6l
JTETHT BT 2 |

(C) 38 TSR H WA o ool Aferehivra: foreiia Tea™ 81 8 S Tt s 311 sfean,
Sep qe fercfia St |

(D) IE HeA Ud & 3ty gfaufaet 3 SHTIR T § |

B foTfHeg’ WA TR ! Teh 37 S(SAT T8eT o Fwaiid Iy 2014 T 3T i 715 Th
FrremeTge il et & | wfosy 1 arfres faehm@ i GyTEET % SO 39 WR g
Y i TTg AT TETIAT ST 1Y I3Td gC TG0 oY § 3= &rdaT <1 faehra fopanm | 38
S foafies’ w1 wurfaa 31feres o w1 sfiera & U %W § Aeg fiortt | @ forg
‘F fafieeg’ 3 Tt awafaei § s1fes amn § frast foren weraey stfees o o wmrh
St < SR 55 |

‘T foafiee’ g avTfad 31fess o o1 fgrar & qU & & fow womfh o6
HATIITHATAT bl T i el ST Bk ohl & | TET AT AT 38 Ig=1-T |
(A) T &R (B) HeET i Yehid
(C) Tafaefero (D) Terep geamsm

66/5/3/RR5SP/22



EEE
[k
10. Tr=faRaa 9 @ yg=nfu fop = few o rsrer = foo 9 = fegmn mn 2 1

DIGITAL

INVERTER la_

(A) ¥IUE 9 (B) WUE HTh
(C) gSumh (D) A&

11. ‘<fer saawTRes qaiewor # fafi= 9ial 9§ 3= 8 Tl 31 IREIieh araf-ad T
Tfersfier feurfomiT sran wifeaat aftifora gt €, safoe qia o8 wwemT Siea 3 ot & 76
feam e qetare foRd AR © ST § 7 3Td: THTEOT SRl ST - ST W H HHSHT S4EThd
TS & T 0T &Y 8 THFAT hic § || S § JhTIITd ST Fieror s oo

CARECIEEAIE LU 1
(A)  stfeeda (B) Sifeerar
(C)  FATHTEThaT /|THETd (D) fcrsfier spfer

p—t
B

TRl ohl SeTereii-ieh &9 H T@H o o7 FHeRTehdl sl Teh HTeA o A1 ETHe WTdT Wie!

%ﬁ’cﬂ%,ﬁiﬁm% 1
@A) fefeet ®) W wfgf we R e
(C) ISR (D) T[IHA HS

QOO EEICEEOEEEIOEEOEEEEEOECEOEIOEOLCOOEECECOCECIOCEU)

66/5/3/RR5SP/22 P.T.0.



QRCLOEOEEIOEEOEEEIOECEOCEEEEOOEEEOEEOOCEEIOEEOOCEOCICOEO0

%
13. wmm@aa,mﬁamwﬁié@nﬁwwmﬁw@ﬁ|
&Y <! ferIvdT sl =TT ;
(A) T g IR |
(B) TeE Tl § |
(C) T&=H Teh =R =t aTet! Ifsham 2 |
(D) TeE Teh it 13 & |

. Shicm-1 | € 718 SsaTeett i ictd-11 7 feu e 37 31¢f & firem <hifore
hicH-1 whieM-11

a. |dsHmEh (i) | ues m, wreg, Taed, wdteh, fesire an 398 @ 3 &1
forsror frEeRt = 3edtg Y g auT SieRnfiEt <
3cie ¥ fi=Tar JeH T R |

b. | STUg AH (i) | T SITUE UG IGHT hig W o ST weeqor fezn
T |

—
S

c. |¥s (iii) | SITUg =T a8 VT T8 TE=HT ST Hehdl B, Afeh Joh
EEESIEETIl

d. |smugaes | ({v) | SUE 198 Wi 9 Sl S Enar g |
FrafaRea o @ ot fashew &1 =3m Hifse
a b ¢ d
A @ G G ()
B) (i) Gi) @ ()
€) () @Gv) @) (i)
D) @) @O @Gv) (i)

=
ot

. Y — 1 : IR TSR T LRI HR Th T8 Faq ST 1 GolH ST § T8l Sfavfaai
1 Gl 3R =1 S § |
Y — 11 : 3R SR foremm sfavfat o1 gaar v e faf=m gt & Saetsy s
2 |
freferfaa & @ 9t fashed o1 === HifsT
A) FFITIZAAFITI3IAAE | (B) HUH [ TT 2 AAHYT I 30 R |
(C) THI®UA T ¢ | (D) T o S E |

66/5/3/RR5SP/22




QRO EEICLECOEEOEIOCOOEEEOEOOEEOEIECEOOEOECIOEOCOCEOEIOCC0
DO
)

—
N

p—t
@©

—
©

E5E
[t

16. <=1 Tt 1 AMHM Glied o folt g S9R T3 | 389 GO SR | SoR 1 T fohall

3T GG | TR Ugaeht 518 38 Yehe @IeTT, A1 IH- 9T foh 36 hig & | 98 s5a O™
TS 3T 38 S H 359 379 o ! TR | 3G o A 3 et <hi SITd S I hal | IS
3 Yohe T T §U TIeet bl SiEl Al 39+ ITT Toh ST BT 37T JUHT T 37K 3ehi 3T
fafyr freper et oft | 38 g SR 6 fasharehal @ raeh foharm o qia STer o1 3Tmed
et R ¢ T | e 3 fashaehal 1 a=rarg foham @l 38 STamn T foh SuseRITSAT
Y T R ISR i Aifd ot | 38 g4 Fame o Tqg SuHeisti ¥ 7 shad gR-8R
forshe ! Sgran fierar B, 31fug o gwTfad Susdiersti o1 ft o=t ufdafseen ¢d 2 e
SEEME I T ITHFI-IIR FgH H FerEal et & | R SR o gk |
U LTV oh Hewd o o 31 T8 HIIY SN I ITHIFAT-HTHR b1 &3 H TG
HHER |

(A) IR 1 < Tt fad (B) Hfaes siifeca

(C) @M ITeric (D) TCHH! FET

5d ° Uig SAGHTR HTeH 3Tdgeh] ¥ U ] & oI 379+ el | Af=fia
AT ! Teh ST H WA & | HIhil o 3oz Ul Afdd AHa-fad o Tgeaqul §d &l
Tehd & | ol o FTgeh UH T <hl Teh FE qIT <hl ST Hehdll & AT S T0@ hich TR
oft ug o feord 8 T 3T W ST Tehal B | SUURT W Fiid Wl 1 EId 2 :

(A) eI et (B) A=A (FeTet) Hiek

(C) =fteh Joher (D) werfrener / frvafyere™ & wd
%1 37 & ~JIH ARG oh |1 S I T&l &1 9 BT |

(A) T (B) SWTaUrdT

(C) Y& (D) TH<IA

TATfeesh JRTE Yeed W 2022 % 3HER 1 JaE, 2022 ¥ feoeft U T WM
AT hi T STaated off | I8t Tl STeadTReh TREtvl i ™M 8 |

(A) 3T TTeRoT (B) faftres wateo
(C) Hrenfireh qatewm (D) Tifaeh gaferon
. Trefataa @ 9 =9 a1 g i 1 T ges T8 2 ?
(A) UNER 6 = (B) 39N <6l 3TTed
(C) w=di ug fafm fr &t (D) terfores gl Ta Hremar &t

66/5/3/RR5SP/22 P.T.0.



QRCLOEOEEIOEEOEEEIOECEOCEEEEOOEEEOEEOOCEEIOEEOOCEOCICOEO0

\)
[y

2

O
w0

N
r'>

2.

EEEI
[=;

vl s e fefmr S’ 3 foheet o gareneh bt 1 Jeerd IR |

B’ Th HR il Fer S=h AT 9 STt T areft e HRi w1 i w
oft | frsel 3o aut &, e 31 oy 3Tl & oKt TE oft RIifsh SR 61 |/ §gd HH
off |

T o P& HIEHR RN R ot o 3T i HH SR ST W ==
U o TTT I Yarersh o Tk Jarersh o 12 T o3 hl | 32 IT fob 37TeTehed
T AFE BRI bl Wiied shl 37U 1 I bl ohUT 9T HT T8 Hid & | 31q: 38H R
Rt dar’ YRy W 1 ol forn | Icared werush | I oft gema feun 6 < A #R
FTcfires gitsshe off T 3EehT T Stfdier g1t Sigd W& o7 37d: I8 Vel & ok 3¢
SR Fertr a1 w1 wfiifera =Terehi o Ty YeM foRa ST fEE A ge%e 7 | Ry wend
Bl TR 37 Teh WFNET0T SRS 3TRY L & T8 | 3UeTed I § & 1 S 1 TINT ATcTeh I
FTTeT0T & o for feparm ST & | < sigd W A AT 38 U =TeThi o W19 A R
Forte w1 firet T off | 39 To=m 1 9iga o€t Ahardn et 3T et fimer 20 9wt o ow
AT T A Feher= T I 81 TR |

(a) ‘BRI’ GRI AU ATeTeh] i & ST ol Tireqor ferfer sl ug=nte ud JHese |
(b) 38 UMNEIUT o YT ATCTeh] bl BIH ITcl fohral Gl AT 1 Hft Jeorg HIfTT |

TS o TgARAIehTUT Sh1dl o HEW o [ohral (1 [rg3Tl ol Jeor@ hifTT |

amefiy 3 =ned, difere, Treat, aferd, $IM, Ty g onfe sm % fow 2001 § ‘wiféant
Bfsre’ TRY T | 3TN I8 Toh GG AW 8 3R vl WA H $Heh! M@ 3UeTed & |
Ul YR SR o Y9 o [olT 38 378 g 91T — IR, 0T, I a1 Iivay 9rd
T o TIU Q1w | Tafy= gl o6 st amfeeh SamEl o1 T afed @&y foshied
T TUT 32T h] TTTCd TS hTT H TehIcHehdl o oh foTq, SIS ShTsh! THI T & |

T < -1 Te=i 1 SR b1 U fawTsH gHfvad o a1 I8 <& & foe fh
giff Tl & 9 ®E w1 FsIed e & G919 8 @ 8, 98 AH-3AAT TIHT W
T - 3T AgH oh S e S T TATE LT ¢ |

(a) U 31T H Afeid JeeH shi STILRUT i Ug=T-T Td THSL |

(b) S (a) H TGS T3 LRI o HEE I i3 Teh fog H AT |

66/5/3/RR5SP/22



25.

QOO CEICEEOEEEIOEEOEEEEEOECEOEIOEOLCOEEECECOCEECIOCEL)
DO
2]

EE

ik
SHIATSIH STl BehioT § SATATEh JeTd Y ohid 9Tl g 8, e o 40 =) 8
3R I Tafercdent @ 3171 TRy 131 GiauTd UgH i dTetl gRT siete foret 78 fdied
%I 13 &Y H qiEfad i ST SR it 7 | o T8 GHTad id & foh 37 Huan! &
T Y T forgeft wTT qe U R 9T H TSt aig v B | I8 gHfvad e %
fore fop 5 faic =1 a8 yoehn X © § 98 98l 81, Hifh 3 fdeg Ui 6 afswa
Teedt 1 3nam Bt 2, e i oft stravTes ginerr e STt 8 | 319 3 e
&% g1 T Sedl-Slec! Rreprrd e W I8 e@r 1 o 9 gew <kl feshie v 8 gae &1
TTHT L 1§ & Rk o 39 AT H 9gd 71U A g I o g wed &1 & ot |
TRuTTHEEY 3 Tt oid 9 e wewr o1 =1 312 o A o | g & T -
FHeft SRt € T8 3 RUH H $ dehieh! I1eg oft Bd g Foreht areafaes 319t oft s
TE A9 U | 39 RO Shmrey efit- e gfaeafeR o g1 1o e @l @l o |

Iy ferfa aumor 6 fhedl o1 anensti W Y S W R | 3 anensd &l

TEETHT T HHEATST |

. FIH-3 3l ARl ¥ YT Bt Ueh Sl 319U g T Yo o G o111 4 39

oo & wrereft o T el 1 S5aH-3 & g I i So w1 ol forar |
3G Tl TF Y’ o &I AT 5 IR TYE ST | Ffeh I 1 hid hl I G-
o <61 U siifgen Tora oft, 31a: 37 9 SEl 3 STT9" | STa=id il ST L e 3R
39 ¥t § T g1 TR | 3k STT9E H STa=id i 9 AT o SRV SRS T8 6 $O
gl 4 Thetet T gy ‘woetedte Y Ofm sHmn St 3ok e fadi shi STgEddn
Wehe ST TET T | ‘Tuekedtie o Tifén wwg % o1 wig forfaa frem 7 91 | 3okt & @en
&Y T ST o1 AT $7oh! TR0 hl 13 Hived Tat@r Wt 781 ot | 36 9g & 96 Th-
GEL o TS I SETd &, FhIS Ikl T T 3G oid & AT 319 R & h! FHATHAT
1 B A I 3TN ThH-gHL o1 HERAT HLd & | 37 T8  F© A for= ferh¥ra Fhu
= T8 T’ g F53M-3 & Y& IF1eh i 91 fean T | Jafy I8 |9g T %
ToTT =41 o AR SH TSI 3221 hl It H 37941 AT fem |

(a) ‘ToereHe Y ST o ¥4 H Yehe B TTct TS o TR h! TgaTHT U9 HHITSY |
(b) I (a) T I T GI3T o Th b foheal diF ATHI o1 3eoi@ shITSTT |

66/5/3/RR5SP/22 P.T.0.



QRCLOEOEEIOEEOEEEIOECEOCEEEEOOEEEOEEOOCEEIOEEOOCEOCICOEO0

27.

28.

[\)
©

E5E
IE-%}

(a) T & forgl 9 fomiwanatt =1 Seor@ hifsu |
Y
(b) IS o F=ferfiad werrl = ameEeT
(i) i
(i) W<

Frfafga s W foqum yeem g9’ it Tasha rgamen’ qen IdTed EUren’ §
3G I :

(a) Y

(b) FEa s fog

(c) HmeH

(d) @I

. oM A 1950 H TSR H Teh U318 &1 g AT Telled’ 3TRW 6 | 38-h! 310

TUTSIRIT < S0 TaTgal Hqul WRd H WG off 3T AT qL-gt & seshl frrersat @illed 31
Y | FH-SH IE TG B 1T, T8 Goh 1 TTUeh THI qeh &l ool Thal AT | 37: 38
T 31T Toh TSI “WIATUH’ o1 = G | 5 HEHI §1g 3T 1 TR AT T o forg
‘T’ firetTadt @R e o S8 3 SR 92137 § Jor 3 o | 394 | 36
R H IS TE ST I RAifeh T Wiiam’ St el ot o1 ¥ Tt sfa of |

-t T} whiew’ @ Tl T H3Tet 1 3uW & & 91g o SHR gH
o, A 38 I8 &1 vaT o1 Toh o hal U 3R forden! sEehl fepmad &t | Taa 4, S 39
Ttg &1 U framht o, anfi-snft st ugrs @t B oft | 98 v M- T T
Iiad’ 1 Tewd ot o1 | 3T Hegw fora 6 e arell b 3% Suciey ARl Ud Tedl %
TR ST oAl STHT =TT, | 3T TTTd ATl o HET ATATATd o ST hl Teh 5@l
T | 37k T&dl o TREI01 o foTu IuwierT STfpRl & SR H STeeh ST & T |

(a) S 31T H Afd ITHIERIT JFIhR I TEATHT Td FHST |

(b) ST feafa 0 ‘T’ grr o 3usierar TR R 1 Iecreq foham T 8, 39 ot
qET-T Ue JHEATSY |

66/5/3/RR5SP/22



OFHL|
e
(a) Tauum o f=ferRaa st 1 ameEse

() ST Gt FEAT U ST a1 SHehT fPeisuT T |

w
S

(i) Tegum feE 4
YT
(b) fifees forawor o TR q&T geeh 1 Jeei@ HINTT | 4

w
—_

. (a) YU THGT o HE o (HIREd oGt ol HHeMSY :
(i) eI ! ITEATTHT ST IUANT F&T T TEH HEAT |
(i) SEed qATERT Sl SATTTIHATAT ! T T |
(i) SR o 6

AT
(b) vEey % Frefafaa Rrgrdr o aaesms :

(i) e =t T
() HHATRET i Tiahet

(ifi) Fwa 6

o)
B

(a) T FTET h! BRI TSl STETIRATHT I T i dTel (HHTARIT BRI h!
HHARRY -
() 39R fosra glaen
(ii) I Fsh
(iii) = AT Y IuATeY 6
AT
(b) Teh HET o AT U hl THTierd o oot A fetRad shTieh! ohi THETSY
()  wfggam
(ii) ks yare feufa
(i) e S grerfHehdr 6

66/5/3/RR5SP/22 P.T.0.

QOO EEICEEOEEEIOELOEEEEEOECEOEIOEOCOOEECECOCECIOCEU



QRCLOEOEEIOEEOEEEIOECEOCEEEEOOEEEOEEOOCEEIOEEOOCEOCICOEO0

33.

W
=~

%

WRd Gzo%r@wrﬁmwmmm?n% | TR A G20 e aee i awardr
o foTe g e el BIE |

freaifea feru ST aTel R Sl I TR T TEIHT AT, IhT TR fohaT 7T aTfeh
3eTAT Sl HITATISh Tt o ToTC T FeTo[el ohi Tl o Teh | SEH STMLRYT FTEHT I
famior, sret w1 direfentor, Hgum-ersht, gren vay scarte afirfera & | fafim swri-ual
T HIAT ! G T T Ty wreei sl T 8 dehl | 359 Ush QT @i W
fomfor e fiTeR-ame % fofe e ot T8 o 8 e wemfid o6t 8 wgrrar fieft |

(a) SYUE T H I Te-eH o 1 ol TETHT Td THZS |
(b) S (a) H YEAH T R o HEw 6 AR fog31l Sl THEATIT |

o foeed’ T Ufig Bied *fEe & foiu s uig f&am gea 1 fwi & @ o |
3Tl 99 b Blee o1 Uit €t T off wifer ol st ftfa e @ ©: 78l 119
I @1 o1 | Wi foaegd’ o1 g sEiert st fafaa on wife i faegd’ s
TUTEAT & AT 9 GREASHIS bl G A o foT¢ STHT ST o7 | RS < aig 37e9e,
ffam, @ 3 STe ygare 0 & foe war | fifem 3 Sifte e g SR st i
T <1 fob Trstgll ot STt srgufedta g o ot sifafter aegl w1 & gemn |
e = e Hrier Al 1 I8 off giua fra o F9igl g s § @1 S et
<8 afel ° | o mefe we off | fifem 3 aefii it woma o smew fean ok wfeer
A& I HTHYH ASGH T AN TGl ol Hfad i o for et arfer Haifed wwa
T § R 9 A a9 |

(a) TEEH % 1 1 TEEH HIRT | e ITeSe B UfFaal 3gUd Hid U T
34 T <h UFRAT o6 =0T <! HHEAST |

(b) YU (a) H TEAH T T4 o 1  HE o (ohwal &1 19311 bl Hi THATST |

66/5/3/RR5SP/22



